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V Semester B.B.A./.B.B.M. Examination, October/November 2018
(Scheme : NRS 2014)

COMMERCIAL LAW
Time : 3 Hours Max. Marks : 80

Instruction:  Answer all parts.
QR RNene vZ0A.

1

Answer any three questions. Each question carries fifteen marks.
CIRFYTHECAR AW THAR €0Zo%. I 1S sosn.

Q1) Define the term ‘Contract’. Explain the various types of contract.
‘2,500 JWHIY, WYIRIA. 2.TOTT QDG DFNIIR, HZOA.

(2) What is free consent? Discuss briefly the circumstances under which consent
its not free.

=0T ﬁ:i:&.a 20007 ommﬁzi FodgFned Ry dodn SRy 20w
BT H0LOTF), FoFTToN WedFA.

03) Explain the various remedies available to an aggrieved party in case of a
breach of contract.

LHOWE weoFdodmen INCW FIHAUAN O AME Y
TOTORETVODNFT), WFOA,

Q4) Define the term pledge. Discuss the rights and duties of pawnee.

Ao wosE, Eﬁ%aaaéah, Fatefa f&%ﬂmodﬁﬁ Eiﬁg}ri#ﬁaq CIES] ﬁzraéﬁﬁaﬂa‘l
23237 4.
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3“6 Is P o Peseribe the VATIOUS Fedsons (o ‘iiﬂmnﬁlh 306 ls PART-C
0"_.’ What i CTOasIE 1 iy
chque i I
resye SoE LOCD HEf YERRFRILY QDT DA wodreryy, Answer all questions. Each questions carries 3 marks.
.Ira A2l el 1

oo TR woZbA. I: 3 woFi.

iR Q10)Write a note on bailee’s lien.
ndesdn mpEmTiE i udd AL leveis

Answer any Two Questions. Each Question carries 10 marks,
Answ

smRmade Lo zEAeA wg0n. I 10 =oEnsh, Q2 Nerrate hacase Lalman e i

eporaa’ o VsooE SedgzhobaEy Do,
8) Writethe exceptions with case examples to the general rule * No consid eration,
Mo contract”,

=3 pooyd sonny” con WERT RUDEDS eITTNYE, CEUTRY
rvemzordadecdd wdded.

QI12)Who isa delcredere agent 7
gomdoh dme 2ood oimd?

Q13)Write a note on Movation.
Hoimrod e wr uld widsd.
{7 Explain the various types of quasi contracts.

xL-:Eiﬁ L..Ficdri# el aa.-w.-c_; 2308, Q14)What is Contingent o
Togimhwoh wgod aoodsh?

(%) What is contract of Guarantee 7 Distinguish between a contract of
Indemnity and a contract of Guarantee. 32 ¢ G

mavrhomtd Lgod 2003y oY J0md wdod @ wminehmedd
LoDy SO TRV, LoD, l

{9 Stte the differences between a cheque and Bill of exchange.

dr & DhEed ognd smag :ﬂ‘:amm-{ 29N,

il
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L~ A Total No. of Papes : 4
:S;f;::fm; B.B.A/B.B.M. Examination, October/November 2018
¢ : NRS 2014) (Freshers of Nov./Dec. 2016 and onwiards)

FINANCIAL MANAG EMENT-11

Financial Decisions
Time : 3 Hours

Instruction :  Auswer all Pargs, Max. Marks : 80
DR FANCRE ¢wIos,
PART - A
-0

Answer any three questions. 15 marks each.
ciRzmmode et T nen vo30a, 3w 15 wodnsh.

Q1) Whatare financial Decisions? Explain its importance.
DOTAT RLFOL J0UCITT Temas DFohs ﬁ:ma;:ql L1204,

(2) Briefly explain the techniques of Capital Budgeting. What are the factors that
influence the capital structure of a firm?

LOBIRY S0hamohT SoInYaE, Joddmeh Lm0A. woth Ho

55 Aoh woRimy
Suidod e SRS URS WOTRTIEE? *

@3) Harihara Company is considering an investment proposal to install a new
machine which would cost Rs. 20,00,000. The life of the machine is 5 years

with zero salvage value. The company tax rate is 30%. The estimated net
income before depreciation and tax are as follows.

Year CBDT (%)
1 4,60,000
2 5,40,000
3 5,90,000
4 6,30,000
5 10,00,000

Compute :-

a) Payback period

b) ARR

¢) NPV at 10% capitalisation rate

d) Plat10%
(Note : PV factor of ¥ 1 at 10% p.a. for | to 5 years are 0.909, 0.820, 0.751,

0.683 and 0.621 respectively)
ET.O.

Al
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540,000
3 5,90,000
4 6.30,000
5 10,00,000
5 sorgnv, SombAD.

5 ddonvos dvEcH

2) o 8. w

L) Zn 0 woZseersge oowg TR Ay Py

8) wommevisore Dooy Ze 108 sezmos mmuof

(Feus @ de 1§ Zmz ofie cosner St 100 LOEmSNOR
ZeTien 0.909. 0.826. 0.751, 0.683 S0 0.621 ehchad.)

oood 1| b 5 SEFned

4) Durga Ltd., has the following capital structure.
T

Equity Share Capital (40,000 shares of T 10 each) 4,00,000

10% Preference share 240,000

3,60,000

15% debenture
The market price of equity share is T 23, Itis expected that the company will

pay dividend of Rs. 7 per share and growth rate is 8% forever. Assume tax

rate is 30%.

Compute :
Weighted average cost of capital for existing capital siructure.

a)

b)  New weighted average cost of capital if the company raises an additional
capital in the form of debentures ¥ 1,00,000 at 12%. This will result in
increasing the expected dividend to T 9 per share, growth rate unchanged

but the share price will fall 1o T 20 per share.
AoART & fWdoEcsn.

e danliEsd woEmYD IoRT
4

Tmume, Sed (40,000 Zeohmiet de. 10 dod) 4,00,000
0% sos deobriee 2,40.000
I5% zmomgns 3,60,000
I, By SRl OY e 25 fomnck mAmE cermer TS Zeon
Oe. 7 23 Zive 8y cod ddoiegdond mmanmin, 207 od S 30
eNEs. & VRSNV, Samedo.

- o

=2

ouIn

oo womnghydons

(£}
Podinzdo @moy somnol BAR I2RE

S:on Te 98 Eetmdom demdd oo
g
o

o

(5) Following arc the details regarding three companies.
> Comy Q Company R Company

R 15% 10% 8%
K 10% 10% 10%%
E T 20 el T2
t on the price of equity shares ol each

Caleulate the effect of dividend payou
of the above companies in the following different situations under Gordon's

madel and also give the Gordon's view on optimum dividend policy if.

VP ratic (1 - byare

Ay 40% b) 60% ¢y T0% 4 90%

@i IViorE SRbinw Shath oxhred Fowohiw3s,
=

lmaQMQEi%;Q

uo* (R} 15% 10%
8 (K) 10% 10% 10%
dr. 20 dn. 20

= (E) . 20
mrqem’ SOIAYoD TIgRor madcdh feth ddol Shed wooky Smchd

TORITLER, “AReEre™ d=d Oachd mnie ¢St e0ir wgmos
m@dchd:, St VEORE FoTTFMSTmMmTmRn tomkaab.

sReRoE Ded Cmod {1-b)
a) 40% ©) 60% ) 0% oy 9%
P -B
0 -5

Answer any two guestions. 10 marks each.
POt 2O TPAVH cIdh. I 10 woEnw.
A project cost T 240,000 and is expected to generate cash inflow of T 75,000

04

EQ : annually for 5 years. Calculate IRR of the project.
(Mote : PV of annuity of T 1 for 5 years at 14% is 3.432 and 18% is 3.127)
noth ciatnmm 3 0. 240,000 midy noh STFAY Anch wesboindg
mars T 75.000 Jod posgmmend. clnimdol never @, Of b
(2o30¥ Zizien Td)
[FRud : de. 10 B¢ 14 mone 3t 18 ©OTY o SUFRY SRS SRy,
3.432 =y 3.127 end)

e
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its significance.

7) Explain the concept of cost of capital and ,,
. QOTEY B TOBOBODT e €T ?@m@?o&mi [OA.
Q8) Whatare the f;ctars which determine the dividend policy of a company? Discuss,
2,00h B0TROD ©RLROD TPRSONTY GFOR @oTrRRR)? WA,

09) The following :nformation relates to tWo0 companies M Ltd. & N Ltd.

Particulars M Ltd. i

EBIT (%) 5,00,000 8,00,000

Interest (%) 1,00,000 3,00,000

Cost of Equity (K) 12% 16% _

The cost of Debt. 12%. Determine the value of the firm and cost of capital

under NI approach.

50" Do I ‘P 200N DO 2030 OB H FUF0RET.
oZon® o' DohE 2T DCHAE

0@ sha dort SRS (62 5,00,000 8,00,000

wi (38 1,00,000 3,00,000

DRI, Zeo5 womms %% (K) 12% 16%

meo S3m ©% 36 12 Zomnoh SPoE B By OBV sl
3Sobady, ‘NI ATROBT T500 FORLBON0.

PART - C

RN = A
Answer all the questions. 3 marks each:
oop BN YDA Zew 3 GOTN.

Q10)A 8 years, Rs. 300 debenture of a firm can be sold for a net price of Rs. 280.
The rate of interest is 14% p.a. and the debenture will be redeemed at 10%
remnium on maturity. The tax rate is 30%. Compute, after tax cost of debenture.

p
g, 3000 8IRF SBHOD WO sgriva, on. 280 DY BN SCLBIR.
e’ wRno ard 6. 14 TR FOOZT Be. 10 TFPT0O3 TSRO
3e. 300 307 ©ony 3orclecso ROTY, FETEY BOR & EB0D.
Q11)Write a note on ARR.
5. BOF. 0. Thed 3T 200000,
Q12)What is Trading on equity?
ge@on’ &F L Hosde?

Q13)Write a note on “Bonus Shares™.
“wipess® Beony hed w%ﬁ 218000,

Q14)Write a note on ‘Stable Dividend Policy’.
%0 ope08 Red’ T, e3aed 228000,

o o
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SLNo. 1412 Total No. of Pages : 8

V Semester B.B.A./B.B.M. Examination, October/November 2018
(Scheme : NRS 2014) (Freshers of Nov./Dec. 2016 & onwards)
FINANCIAL MANAGEMENT -1
Advanced Company Accounts

Time : 3 Hours Max. Marks : 80

Instruction :  Answer all the parts.
QR Rrnvne ww3oL.
PART-A
EAE ™)

Answer any three questions. 15 marks each
cipm)Temte 3 TINAYR wuZdA. 3w 15 BOENLD.

Q1) The Balance sheet of ND Ltd. as on 31-3-2018 was as follows

T T
Share Capital Goodwill 3,00,000
90,000 shares of Plant and Machinery 6,00,000
Rs.10 each 9,00,000 | Land and Buildings 3,00,000
Profit and loss a/c 1,00,000 | Cash and Bank 1,30,000
Reserve fund 1,70,000 | Stock 1,50,000
8% Debentures 2,50,000 | Debtors 1,50,000
Creditors | 2,00,000 | Preliminary expenses 50,000
Bills payable 60,000
16,580,000 16,80,000

For the purpose of valuation of shares, goodwill is to be valued at Rs 3,95,000,
plant and machinery and land and building 10% more than the book value.
Stock was overvalued by Rs 20,000 and a provision for bad debts at 9% on
debtors is to be provided. The net profits for the 3 years were Rs. 1,40,000,

Rs 1,41,000 and 1,81,000 respectively after taxation out of this profit 20%

was placed to reserve. Normal rate of return expected is 10%. Calculate the

fairvalue of each share.

PTO.

T e B R T W RS S m e e
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S 19 : _ai_7018E S BVEOECAD.
fam A DoDeED SIS ogd 307 ; ——
— TR R
et poERY - .
oz, 107 90,000 R e
=g Sodhy CHOENE | 600000
o 9,00,000 o ' \
) Lt il
ey =g = 100000 | mede I !L,ﬁ; 300,000
SorSul ‘::ue; L0000 | mRoe wRE SROT L30.000
VS T
8% e =INW 250000 | I 150,000
g 200,000 | abrinsd 150,000
fnodms @mol £0,000 5353$§ ﬁ;-’i:_;"[’ut‘. S0,000
16.80.000 | 16.80,000 |

semph TommER 2FY 0R. 395000 mgg
hEy pooc mE RuE DE genog de 0% O T
Se o 20000 32 SEIENG 53 whedng
Sved Br. 00 SOt Tew oormShnd. FoDRCR A =Y dor doZg wig
S Szed e, LA0000, TE. 141000 =2 O, LELODD SNT. wogy
e 203, oeezien aon dhnoAmng. mamEE TIFY oo 2 10 aom:
Emcg::r-:nd
Z2 Jeom i dden, o=t LAD.

{2) The Balance sheet of Puneeth Co. Ltd. is as follows
Balance sheet ason 31-12-2017

[ Liabilities [ ¥ Assels €
30,000 equity Goodwill 1,20,000
shares (Rs. 25 each) | 750,000 Machinery 6,80,000
10,000 8% preference | 5,00,000 Buildings 3,50,000
shares of Rs. 50 each stock 3,50,000
% Debentures 3,00,000 Debtars 3,00,000
Creditors 4,00,000 Cash 2,00,000
5% Bank loan 3,00,000 Profit and loss Afc 2,50,000
Preliminary Expenses | 2,00,000
24,50,000 24,50,000

-2-

30619

1}
2)
3
4)
5)

M-590

The company got the following scheme of reconstruction approved by the
court

Equity shares to be reduced to Re. 16 per share fully paid.

8% preference shares to be reduced to Rs.40 per share fully paid.
The debenture holders agree to satisfy their claim to Rs. 3,850,000,
Building valued at Rs, 4,50,000.

The value of stock depreciated by Rs 18,500,

Pass Journal entries and Prepare Reconstructed Balance sheet

Omeed 31-12-20170 =hfez', do. Dobindd egmd S8 = fvromic,

=R b gr. | =ane o,
30,000 m;ﬁ?fi S R 1,20,000
(3o dn. 25) 750,000 | ohog 6,580,000
e, 80 10,000 ce. 50 gLaEnth 3,50,000
=l dd egm R 350,000
Beemish 5,00,000 whrdnish 300,000
. 60 FRUTZn 500,000 Eatytmi] 200,000
[ntaTyL=E] 400,000 | g ﬁ% md 2,50,000
g 5 mmodE WY 300000 | smdowd Sgish 2.00.000

24,50,000 24,50,000

molRUoRE) # dvdod =iao” DSnrn cleikdohil, Fhonet Zead,

1) mesmEs Sdnve de. 160 Sees mTecing Jecoridom [V,
2) Be 80 soE fbne de. 400 Terer ARG Jwcknidom
’ memEEh.

3) e JIOs: IW, WOTW, e, 380,0004 Jpreomp.

4) n’a_}}::"cs aﬁusq o, 4.50,000 shdd,

5) mmpd aPys @0 ZFI9 de. 18,500 Ceess medd wddd

Tans ajas%us s Tuohdy, Iodmda.
-3-
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30619

@3} PRK Lid. incorporated in 1-3-

7.500
Bad debts . 25,000
Sales commission 40,000
Rent 6,000
Goodwill written off 20,000
Printing and stationary gahmg
Advenising i
Deepreciation EE&%
Discount on sales Eﬂ 000
Salaries 30:000
Director fees 8 000
Interest on debentures ljhﬂﬂﬂ
Audil fees 24,000

General expenses
2. Gross profit for the vear was T 9,00,000.
3. Tumover s one and halftimes in Nov, Dec, July, August, Sept. and Octobe.

1-3-2017 oo smroocidsoz® 48008 RODINEE &0 Qmodr ghy
mEmuEm, 1-11-2016 boo drcmdatdd. 31-10-20174 dnddsomos 5

$¥Eon Smbimen mTd FI00 SRS SO LBOD.
@ ]
L oy = a2 wmeEn Feradoing ST,

Yo WO 7,500
anmun Swds gwme 25,000
man 40,000
I mméd e 6000
dedds mImh oF Sode 20,000
ket 80,000
e 1,00,000
sSmoriio deds 2az 20,000
Toud ¥ 80,000
AEFrdeg oy 30,000
Tmumgie Seds wg 18,000
d4 =30 my 5,000
TwER ;i:gnm 24,000
HEFD Zav oz o, 9.00,000

=
sSond, Bhond, wd, ens, iowot =@ sdgrEd dnon

4~

T M TR .5

30619 S
(4) The Balance sheet of *M” Ltd. and *N° Ltd. s on 31-3-2018 o 590
'V Lu] W Lud ‘M Lid |'N Liud
_ z % 4 k4
Share capital 5,00,000 | 8,00,000| Good will 50,000 60,000
(Rs. 100 each) Machinery 3,00,000| 4,00,000
Reserve fund 50,000 30,000 Buildings 1,50,000( 3,00,000

Profit & loss A'd 50,000 | 70,000| Stock 1,00,000| 1,40,000
8% Debentures | 80,000 80,000] Debtors 70,000| 90,000
Creditors 50,000 [ 70,000 Billsreceivabld  £0,000| 60,000
Bills payable 60,000 | 40,000| Cashat Bank |  40,000) 40,000

7,90,000 [10,90,000 7.90,000|10,90,000

Both companies agreed to amalgamate and form a new company called ‘PO’
Ltd. which takes over all the assets and liabilities of bath the companics on
1-4-2018. Rs. 500,000 and Rs. §,20,000 were the agreed consideration to
‘M’ Lid. and *N" Lid. respectively which was paid by *PQ" Ltd. in the form
of fully paid equity shares of Rs. 100 each, Amalgamation expenses Rs.
8,000 paid by “PQ’ Itd. pass opening Journal entries in the books of ‘PO’
Ltd. and prepare Balance Sheet of ‘PQ" Ltd. assuming amalgamation in the
nature of Merger,

31-03-20184 ‘2 @@ ‘a5 dobindn ems oF,

2 T S o

foRind | hodios RoDad| nobass

T L T ¥

Bech noGmy b 50,000 60,000

(=8 Zelrl dal00) | 5,00,000 | 8,00,000 oo 3,00,000| 4,00,000

Sueman RQ 50,000 30,000 d%dﬁﬁ 1.50,000( 3,040,000

Lozl Fdsamé 50,000 70,000 m::ag.m 100,000} 1,40,000

e, §d sEnsd| 80,000 £0,000 |asscdrish 70000 90,000
wars 50,000 | 70,000 |wdtdemo

dncdems ool | 60,000 | 40,000 |Zodnsh 80,000| 60,000

moddd Srich| 40,0000 40,000

7,90,000 |10,90,000 1.90,000(10,90,000

-5
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Sty

i ion of Goodwill.
Discuss the various methods of tuluatrmn 0
by  What do you mean by Amalgamation in the nature ui‘]'fl..:rg,,:,?
¢) Do SREoedn Snmd 207 noeRnda, s,
e T ) 2 P
o) zZoodesd sheos D96 aoode

PART-B
s
Answer any two questions. Each question camries 10 marks.
comymRTds o0m Zined wIdk. I 10 sodish,
(6) What is purchase consideration? Briefly explain the reasons for merger ang

acquisition. N
Fob =Py condim? odiE Sy 200 WIENYER, JOFTTA g,

0s) a)

7) What is internal reconstruction? Differentiate Forfeiture and surrender of shapg,
20207 shadysd cogdim? Jednd amiuflonen 2@ IO Secbnivy

o
(8) AGK Lid. sells its business to HSP Ltd. HSP Ltd. takes over the assets apg
linbilities at book value. The purchase consideration is payable by the issue of

16,500 shares of Rs, 10 each at an agreed price of Rs. 11 per share & ihe

halance in cash.
Balance sheet of AGK Ltd. as on 31-3-2018

! . | ¥
Share capital Land & Buildings |1,20,000
Creditors 80,000 Plame & Machinery| 80,000
Bills pavable Debtors £0,000
Profit & loss a/c Investment 30,000

Stock 10,000
13,20,000
b

AR i TR

IR

30619

|’I‘L‘F"~'lrl-'_ the ledger accounts in the books of AGK. Ltd. and |J!|\::slng:2n[:
entries in the books of HSP Ltd, Assuming amalgamation in the nature of
purchase.

AGK Deohaezg) 25, swmoma, HSP achezd owod. HSPoobidy)
arg el ié"ﬁ :ﬂJ?r’E!EGUHG*.ﬁb_& m-ji L3 Sﬂd:ﬁ.r:r.'li_id. Db :k‘l"-'::ﬁﬁr‘ﬁq
E:.suﬂ e 100 e ddod dronivey, de. 1 ood Soman weed
SRS, AN CRTnd mainwmibgo.

GEee® 3-MI-2018000h AGK Dofind wsomd =g,

[ EreEmoine: T T z
S wmo@mRY | 2,00,000 z.::::.:.. o sy | 120,000
Sednsh E0,000 chiod ey mFI | S0.000
fngtima
Tholnw 30,000 shodrich 20,000
=y B smd 10,000 AL ] 30,000
R 10,000
120,000 320,000

AGK Robogdd mdnv, dcimdy, HSP hobiodod wdopd damm
RS 8, D00 Thes? toddnsd o edk :

09 Find the value of goodwill from the fellowing information under

al  Super profit method &

b)  Capitalisation method

Mormal rate of return 10%

Average capital employed T 12,00,000

Net profits for § years Rs. 2,00,000, Rs. 1,20,000, Rs. 1,30,000, Rs. 140,000
and Rs. 1,350,000

Goodwill is 5 years purchase of super profit.

B dydom oFdnvon mmahd ddoba docklOolb.

@) w¢hY mgn IEd D

) wodmvabng Thk

:Em% el g 10

noesd womzmd mald de. 12,00,000

5 dzFrid ATV ey 04, 200,000, g, 1.20,000 dae. 1,30,000, o, 140,000
2 da. 150000, e idem § 32Fd D00 wgid thed FE0N.

-7-
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warEise =y

o ——

Answer all questions. 3 marks each.
Sy TIMOR wu3dk. Ioo 3 LOFND.

-

i

Write a note on:
B8 wdcnb:

Q10)Pre incorporation profit,
HRtomEE dnge Lantal

———— T

Q11)Splitting up of shares.
BeThne DeiDhs,

T Tt

Q12)Consolidation of shares.
Jethrie Bpe@Ysks.

Q13)Accounting Standard 14.
ﬁﬁﬂ aa:q; wWREO 14,

- @Q14)Post incorporation profit.
eﬂmcmﬁdmegﬁ oot
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SLNo. 2174 mEmwg M-588

V Semester B.B.A/B.B.M. Total No. of Pages : 4+1 Grapl
S Examination, October/Nov iy
(Scheme : NRS 2014) (Freshers of No ober/November 2018

/Dee. 2016 and onwards
BUSINESS STATISTICS - T o

R R e e e e

Time : 3 Hours
Instruction:  Answer gy Parts. Max. Marks : 80

DR JIhanens eV302,

T ey WG O N L

PART - A

RN - O
Answer any three questions, 15 marks each.
OIRPYTRTOR =t =gnien WOB0A. Fow 15 wogn.

———

Q1) Calculate Mean and Mode of the following data.
S 89NT T=o30od XmEd S0y WICITIH, FoTLAWD.

Marks Number of students :

=lek:ai=s] DROFNY o,
0-20 5

20-40 10

40-60 40

60-80 15
80-100 25
100-120 28
120-140 35
140-160 40
160-180 30
180-200 z

’s co- i f Skewness from the data given below.
Q2) Calculate Bowley’s co efficient 0 | e
25 89N Serdha sfepleialels 2PE0H0 HHIod MHEROTEED, B0

Wages per day}less than S0 100 150 200 250 300 350 400 450 500

200> O 80 303 BRD
Number of wnrkers} 4
3oXMPT0 A0S,

15 28 46 80 105 120 135 140 150

ET.O.

i
L
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ool nopat ol - 1 Anwer iy Do guestions 1O ks vachi
[ | parks in ‘-t""“""‘"m L":'_"] ORGSR Ok, SN dudbL, 4T 10 o,
Rlarks in P mus 40 BNV e
It il | £ .‘5 0 70-50 B0 Teny ) Lo thie ddata griven below calealate stmdard deviation and co-ellicient of
s :'im-!nf!r st Lok yariation,
723 b | 4 o AV davicin cmanbon Bglodud o Lagefiads Ao,
e [ I g st luiaal,
) L. J b . 0 X : & T LR TR 7 S S T S TR/
-1} F 6 | . J| 2 g . 20 r +5 # 2 s 2 w12 7 6
L] 5 -
40-30 | —=—t— % 3 21
50044 ] G L | — . .
; | I' . 5 : o 2 (7)) Construct Twa Regression equations from e dita given below
i Lt T | s &= i 1 o U ARMICT CTOBLOL LOOL KO NLMUVD, ol
P00 1' ] L et 3 — X% oMW 4 52 ST 62 M 6
Total | i 2 i3 100 Y osaom MWW W w55 T E0 R
e |
e |
; ven helaw fit @ steaight line wrend by the method of fu, K) Caleulate e ‘upcnlmcn 5 Mank correlmtion coseflicient from the fullowing
(M) From the data pive Pin
sepuiarrcs and plt it on a praph sheet alung: with the original dn b,
th e dauos CzsEns s-,:“,..e“.":.s D L5 0 s ke, o dYA BAMOLE OWOEUOD  ACLT DATCH0 AT ARG
wvong, Y it prerdacon sy Lo M APOL e FrsoNEI, 1ol O
e, s Iﬂfl' 10 ||'5 125 115 130 40 150
Year Produgtion (Units) Yoo s 14 120 105 125 100 s 120
gmr wEEn (PR
2000 156 ) . )
001 186 O9) What are the components of time seres? Explain,
2 291 eoudrilon FREnVERET LE,
2013 ELY) .
2014 00 FART.- C
==
20135 420
2016 70} Answer all the questions. 3 marks each:

wp TEOe Wb, 25U 3 w0

O5) Define Statistics. Explam the charactenstios of statistics,

HRERERAET,, SR OB SR, LT, CH M a distribtion 2 140 & % 180 Find M.

200 LAURGEg Ao 10 Ko k) shoidn, M, gooluiacin,

wlda =}
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Q11)Givenfaz@cznd.
X=120,Y=100,r= +0.78,

. : on Y.
Construct the Regression ﬂll’fﬂ“‘:'; ;{ -
X & shed Y BRI D ooegoERng

=70
JJ = qﬂt J_'r

ive correlation-

12)Explain positive and negal e, D=0A.

-t U
ﬁmﬁj SAE] ﬁ::ﬁéﬁﬁ nE Ao

Q13)Define Median.
mqaﬁﬁ?hi mﬁmﬁah

istical Table.
I4)N the i rtant parts of a good Statis 2
. Jhgr;: m;:al;slapﬂmns-ﬁ: BresEs o, gRrindaEy HAROA.

v v Y
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Total No., of Pages : 2

sl ol R S

V Semester B.B.A/B.B.M. Examination,
(Scheme : NRS 2014) (Freshe
SMALLBUSINESS MANAGE

October™November 2018
rs of Nov./Dee. 2016 and onwards)
MENTAND ENTREPRENEURSHIP
Time : 3 Hours

Instructio Max. Marks : 80
I n.:

All questions are compulsory.
S ZEaws FEgan.

z s
B e

P S

Answer any three questions. 15 marks

each.
CEFYTRELe et Zgnen

m:g::-;q. 3w 15 =oEng.

Q1) Define Small scale Industry’. Discuss the

role of small scale industries in the
economic development of India.

Weg TEeres fﬁaé‘mﬁﬂ TRERIN. RUST SPFE eFQodd ey
Twnd §iwosnd TREAE, e,

02) Explain the financial and marketing problems of small scale industries.

ﬁs% Edmﬂérw TR mégr mmﬁagcm ﬁmfg{#@ Falntal )

03) Define ‘Entrepreneur’. Explain the qualities of a successful Entrepreneur.

wdﬁmmmi mﬁmaah. R c-jazut.; tm:iﬁaﬁ.bwa mmugmmm& 20N,

PTO.
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o ofentreprene

) Briefly explain the evoluati
a dat e T, ﬁ;‘iﬁ_‘ﬁ?n Se0h.

e i eoniebbee®

e offered by the govemment g
(15) Explain any ten incentives and subsidics et mal)

scale industries.
3 e mTas B Aarmmeny,

Answer any two questions. 10 marks exch.
cmymads o zEAe eyl I 10 wonisd.

7
=

©6) Define women entrepreneur. Discuss the problems faced by womey

entrepremeurs in India.
DT OETORT, TAY. RIDY ThD WHAD tochozy
:m%nmu?r'_-sn." 2

2
(7) Explain the functions of SIDBL
QT 2.0.0.8 7 wobFIVE, 20N,

(%) Sugpest the measures to overceme sickness in small scale industries in India.

ooy An Someo Emoinvds dedl Axdobm, madioelzen
gonvak, el :

@9) Describe the functions of an entrepreneur.
UTDTRUT TOBFIVAD, DTOX.

2

M-s,g
) 30615

Foieneu—" |

M-586
PART-C
Eerl =t

Answer all the questions. 3 marks each.
ATy TANVA wuon. 3 3 wosw,

{18)Write a note on DIC,

o wf e wdonb,

(1 DExpand the following:-

AUnEDVA, 230~

a) SI81
ATH.05.D
by  NSIC
aF.aTas
c¢)  NISIET

[l boRec Rl L

(12)Write a note on Thapars.

3mdo wij w? wdoko.

@13)What is entrepreneurship?

w:ﬂ,&bbwé aomdesh?

@14)What do you mean by Industrial Estate?

ddman SDmEE acodehd

U

IR R R RS
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V Semester B.B.A/B.B.M. Examination, October/November 2018
(Scheme : NRS 2014) (Freshers of Nov./Dec. 2016 and onwards)

INCOME TAX

Time : 3 Hours Max. Marks : 80
Instruction :  Answer all paris.

QR FRANCR (V30

PART - A
=il - 2

I. Answer any three questions. 15 marks each.
CiRRYHTOR Ieth TZen ev3oa. dwm 15 eosrih.

@I) Mr. Rahul is the general manager of Ramesh motor company. He furnished
the following particulars for the P.Y. 2017-2018.

a)
b)
c)
d)

i)

Basic salary ¥24,000 PM.

Dearness allowance at ¥ 600 P.M. [under terms of employment]
City compensatory allowance 21,000 P.M.

House rent allowance 71,500 P.M. He paid 23,000 P.M. as rent for the
house occupied by him in Mysore.

Bonus 10,000

Children education allowance 400 P.M. for 2 children.

Medical allowance 71,000 P.M.

Conveyance allowance ¥200 P.M. but he spent 7150 P.M. as conveyance.

He & his employer each contributed 15% of his salary to recognised
provident fund & interest credited to this fund at 10% amounted to
713,000 during the previous year.

He has been provided with small car for official & personal use & all
expenses were met by the company includes driver salary.

PT.O.

Scanned with CamScanner

i g P R R S e e e e L e e e

.

-
e e



: N3 X Ligl "—-—

"
30616 Meal 30616
= -L{ KE O :L.t"“j“-d:‘ dedare aatimo g M"SST
2007=2005 B Loon pard i SEcPEY Sales 1ax o/ 20,0 | Recovery of
FITRAD SIWICY SO0 M ‘UI odd. * Salary 10 sinfT GOOM | bad debis S0,000
T L e e T 1 . i : )
W) Swyvdean Joned ow -rl.l'“‘:i —_—y -.""udl Posinge 5,000 | {Previously disallowed
2 ...‘-.t-u od doped de UL Y L4111 T RRAD £ 000
k) Rno & o gt | Soned dis, LOOO .  Net profit ;
a) o8 onad ok soner o, LS00 e SyRe0HR FED maAmho Ko 720,000
mdn wead doned de 000, = 10,90,000 | 10,950,000
@) A e, 10,000 ” 3 ad Additional inf :
SE)REY Smams g doried Lom sroof ey #eUded SOm o W
meh{?n % 2} Ve ol car expenses are related 1o personal use.
| )} General expenses include 215,000 being donati sed instituti
— S X 2 donation Lo an approved institution.
31 & o gl Ao T T ; 2
@) "-:c}.* or g b doned da. 1000 3 Stationery includes 25 000 for gifis 1o customers on Deepavali.

200 (dened o 150 DeF
200 (30 ‘ BUNE ey sl DB o8 SIRbLIATCT b DIFUTIC LbY YTRCDIM,

Syt 3 doegates dorerd o
don IrF ?,:!IH 2019 '54 domy ffachb.

snoms)

. T ppdd o Aol dowvd | i
i :j.ﬁzﬁ'?:::.:, f!;s: S BRI g, 2, o o mmd 31-03-2018 x
0 o= & :3:..11; o of Lons STF FREeehd. Ty | LTdnvs oe | oZdnw m
Wl NEEhoR: O6R A iy RO dﬁf"d"-""r REAEDER. WERY fle. maws, MoFrw | 50,000| wor Age e 6,80,000
(P Sy eeled wemelaend aaennd " mo Sy 0,000 " s e women | 2,30,000
@2 From the following P&L a'c of Mr. Ritwik for the year ending 31/03/2018, " Arsisy 25,000 " womd seszmad wb 40,000
Compute his total income for the ALY, 2018-2019, | " Bom 30,000 " mu JIC LB 50,000
Profit & 1 oss Ale for the vear ending 31/03/2018, | " el dozd sp00n| " a;ﬁ;sg;;r " 40,000
pe Cr. { " ahored shadon 25000 " SHadxEg domd
Particulars Amount [P.trliml.‘:ra Amount | mu(lchs STFSY)
L S SN S E————— I T g SwE, SRA%S0w) 50,000
o Gieneral expenses 50,0000 | By G l/d 3, 80,0000 " @rich chomclan 60,000
*Car expenses 30,000 | Income from HLE 2,30,000 " Snoow 304 den
" Sttionery 25,000 | Interest an POSH Afe | 40,000 ! desnady, 20,000
" OGS 30,000 | Interest on debentures | 50,000 | Ayoh souy 60.000
* LIC premium 50,000 | " dividend 40,000 " word dy 3.000
"Uerperation fax " g mu Dl 5,000
[on 11.12] 25,000 " g g 7,30,000
" Luoss on cash 10,90,000 10,90,000
misappropriation 600,000
<3 i
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rﬂ-.tno [LETe ]
a)  vmd Sy .ljc-.#mnmg{!.
1) rmanr sl 1=

n) Arsnong g 5,000 mEeos Oreses

. I'w
(20 M Samarth bs the owned of three houses, p-lmculm o

year ended 11032018 are ns under

House A
Muinicipal valuntion 20,000
Itent received 30,004
House used Let oul
Municipal to ¢
[*aiel by owner 1,250
*aidd by tenunt 1,250
Repalrs 500
Collection charges 200
Interest on luan :
n) For construction .
b) For marringe of daughter &

Compute Income {rom house property

b hprroSc: Swed v, ZRc00Y

15,000 i, Exej8 ©AE 7

M-587

i 4 crmsRivisy
s

hich, for the previous

House 1Y FHeuse *:
0,000 30,000
26,000 e
Letout  Self occupied

1,000 3000
1,000 -
1,000 2,000
200 ‘

u 6,000
5,000 .

of Mr. Samarth for the AY. 2018-19.

¢ Dapor: 31-3-2018 Com

woxmIbE SHr oucprod edd il HON dunsods.

@A
7
fiolebdaz] ﬁﬁci 20,000
won ddd&‘.ﬁg‘ 30,000
oo vemclnen mann
daud
Zongm For:

Pl {eh] m‘aa‘ﬂhd& 1,250
RAATO0: WIINTY, 1,250

-4

=3B e C
7 ?
30,000 30,000
28,000 -
monin :goa!m#
LIt
1,000 3,000
1,000 -

]

30616

oty e LY ?:!rr?sj
R Trad sy o] il

TLn e ln

w) LEmeneh - - &JUN
£y Thne wholdrah - 5 JHA) #

10, wEr 20182019 4 TR oD S DLAGhaT LoD BTREEEE

sodl. LOLS,

04) Mr, Partha furnishes the following particulars for the Y. 2017 - 2018 -

’
a) Interest on bank deposit 30,000
b) Dividend from Indian company 15,000
¢) Dividend received from foreign company 20,000
d) Examination remuneration 10,000
€) Income from Lotery (Gross) 1,50,000
f) Agriculture income from Canada 20000
£) Winning from Horse Race (Net) 30,000
h) Interest on tax fres debentures of Mysore
electric company £.000
i)  Royalty received 250,000 & related expenditure 5,000
i Income from units of mutual find 20 000
k) Dividend received 76,000 from co-operative
society.
)  Share of HUF income 7500
m) Salary as MLA 730,000 and daily allowance 400

Cmmmﬁmutﬁmmfwﬂwﬁx‘zm&w.

e
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B e pY.2017-2018&
Vimarsh provides vou the details of liis 'W;:ﬂ m-:; 2018-2019, ifheis

Q% Mr 21
vou are required to determine his taxable income 107

a)  Residem
b)  Notordinarily resident
€)  MNon - Resident
it Agriculral income in India $75.000.
i) Income received in India for service rendered in England s i
&) Intereston U.S. Bond (3 received in Indis) €1.40.000-
i) Income from business in England the business was setupin India 780.000
(5(F e received in India)
v} Incom from business L':And!:ﬂi’mdﬁhmfi"dhwandzl e
vi) Income from business in Bangladesh €2.40,000 depasited in 8 ook
there (50%was broughe 1o India).
+i) Past untaxed foreign income brought in the India 72.60,000. . )
Vi) Agricultural income from land situated in Bangladesh received in India
£90,000.
&t Loize 2017-20188: Sorg @i SORRANE DROARED, &0, 221_3‘
20192 2o =i v () BRA (2) WERG BEh 9g0GD, S
(L) sislomon fsddszesma ooomoo SRIFE s Ro
fssomm:me.
-
i) eCcEC fL “moT Cx 75.000
B =ofewrmg 2 xgacd mozng =do Sk os 240000
H) SLaTLIRIETV L3 2z 1.40.000 (% v moESd ArEoad)
M) Todomsg Somos sossn de. 80,000 SISmOF HUISY
m2FTND (e, 50 ST, OIS 4rI0AD)
Tz womeog Ta. 130,000 S5 Soioa'Rg AR
motnd

v)
vi)

vii}
Vi)

& 2. 2,60,000
of 450455, T 90.000.

=T3S

30616 M-587
PART - C
=n -
Answer al| questions. 3 marks each.
=g T_:'ﬂ_.tﬁﬂ'n.'a '.-’.'-EDI.. 2 3 oETING,

.

Q1) What is long term & short term capital gain?
Qimran = STED podmy Ymolh Qomoem?

QI)Define Perquisites. State any four Perquisites.
SITOIDY CIRIROCR mig REuIIVE Lol

e,
= = -
aied ‘ﬁ"' L vt et et

Q12)What is casual income? Give two examples
BEAY vmol oondim? cRRmED SUm wwmEcHnes, 820

@13)Write a note on Deemed income?

"Rkl Hmons ur) e wdase,

Q14)Mention any 3 incomes from other sources.
%30 voookd olmsirToda 3 CTRIRNE, BAbL,

L -

-11-
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